GENERAL SCIENCE MOST IMPORTANT QUESTION - SET 3

1. Which gas is produced when a metal reacts with water?

SIS I YT STeT o Ay HATHIAT Al & o Hisd @ 3T Ieueat glelr g2
(a) Oxygen /3TTarEISToT

(b) Nitrogen /ATSeIoTel

(c) Chlorine/aFelisT

(d) Hydrogen /gT83ISTel

RRB Group-D 19-09-2018 (Shift-I)
The metal react with water to form related metal oxides or hydraoxide and hydrogen gases.

U1 et o AT Tl ieh T e 3HiFaIss o1 gregiaanss 3R grsgiol 34 qarcdr
el

2. The current-voltage graph of ohmic devices is as follows: /3NTAF 3TRIOT FT JIATA-alecsT I
$H YK &

(a) Parabolic curve/TRacl & dsh

(b) Two-line curve /&T-{@T dgh

(c) Non-linear curve/IRYIT@F a&

(d) Linear graph AT@® ImH
RRB Group-D 26-09-2018 (Shift-111)

3. Radiation emitted from a hot furnace is ?/?I?ﬁ' 34?:3[ T Ao arar fafetor %’?
(a) X-rays

(b) Microwave

(c) Infrared

(d) Ultraviolet

RRB Group-D 24-09-2018 (Shift-111)

The radiation emitted from a hot furnace is infrared.

e Remote controls: TV remotes use infrared waves to convert commands into binary signals that

allow the user to control the TV from a distance. / R#AIC Elv_v;ﬂﬂ' &ar RaAe sAE F°r EI'IE?Iﬂ'
ool & dgoe & TIU So%PRS Al &1 3TNl ol ¢ Sl SYAETehdl i g & &rar
frafd &t @1 At & 8

¢ Infrared thermometers: These thermometers provide contactless readings. / EFFFITE\' uATHEeT: I
YT q9eh e AT Fere FId &l

e Electric heaters: Infrared rays are used to heat the surroundings. / 3@% e $FFFI'Q_5' oot
FT 3YATT THIMH & JTATEROT T IH P & [T fhar Srar gl

e Thermal imaging cameras: Used for night-vision and security cameras. / Spere) mﬂ S iy
Tiee 3R gee F & fow 3uAeT R S gl
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e Astronomy: Infrared waves can pass through dense gasses and detect cold objects. / G T3
SRS AT Tl AT A IR Fehcll & 3R ST a&I3HT HT Il o Hehell &

e Optical fibers: Infrared waves have longer wavelengths, which means there is less chance of signal
attenuation. / 3fifCcehel BISSR: SPRS dW@N $HI T & of«T gidr &, o ger 31y § &
fReter &ffoT 81T i Fora=T A g B

o Heat from fires and lit charcoal: Even objects that we think of as being very cold, such as an ice

cube, emit infrared. / 31T9T IR S §'U I F AT ZI%T ds & o ER?:I:'HT Fr gH §I§FI'
&1 |ASIA 8,910 & 9 &7 gahsr, 9 o 3raiaa fafdvor scafold a8

e Heat from sunlight: The heat that we feel from sunlight is infrared. / H:éf & Yeprer F AT Q:I(:éfl' &
STRr & S AT §H ATHH BT § 96 a<aEd g ol

e Heat from radiators: The heat that we feel from a radiator is infrared./ ¥3Ued & T IBUer &
g S I AEHH &l & IE RS &l ¢

e Heat from a warm sidewalk: The heat that we feel from a warm sidewalk is infrared. / I gh_c,"QTiil'

O At 79 Peary F g S I AggH gl & 96 SRS Bl ol

o Heat from food: Special lamps that emit thermal infrared waves are often used in fast food

restaurants to heat food./ #TeTed & ITHT: LT SRS Il &l 3ol el arel fady ofg
I YT IFER BRC 5 TERT A Al &l T & & TU fhar S gl

4. Which of the following substances has the highest resistivity? [afaf@a & @ e qerey fr
GiaRItehar e 38 g?

(a) Ebonite /TSIITEE

(b) copper /dTaT

(c) Nichrome /AATSshIA

(d) Glass/delTH
RRB Group-D 09-10-2018 (Shift-1)
Material Resistivity (Q-m)

e Ebonite 10'2-10%

e Silver 1.59x107®

e Copper 1.68x107®

e Nichrome 1.10x10°®

5. Hydrogenation of vegetable oil is an example of............... Jasreafd dof &1 asgﬁa?hw ............
T Th 30T &

(a) Displacement reaction /faamaer gfafear

(b) Mixture reaction /f&#roT gfaferar

(c) Combination reaction /H3Telel Yfafshar

(d) Replacement reaction /9fa¥amdsT gfafshar
RRB Group-D 10-10-2018 (Shift-11)
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The addition of hydrogen, chlorine, bromine, etc. in the order of reactivity in unsaturated hydrocarbons
is called combination reaction.

IHEC GISgIehrael # TTAThATRMCIAT & et H EISIoled, Fellliel, ST TG T AT FhTolel
gfafshar sgerar g1

6. Name the reddish brown gas emitted when vigorously heating lead nitrate. IGES F!IEE\E Fr AR A
IH A W TAehelel dTell ool 3 97 1 I & AH TSV |

(a) Nitric oxide /a-llsfich 31\i°H-II$S

(b) Nitrogen dioxide /ATScrolel SIS3iFATSS

(c) Dye nitrogen oxide /318 ATSEIST 3TFHTSS

(d) Nitrogen pantoxide /aTSelolel Yeladss

RRB ALP & Tec. (14-08-18 Shift-1)

2Pb(N0O3)2 - 2Pb0O + 4NO2 + 02

The chemical formula of lead nitrate is Pb (NO3) 2. It is an inorganic compound, usually in the form of a
colourless crystal or white powder.

oIS AIgeT I TAAAS FA Pb (NO3) 28| TE Teh Hehraiieieh Al §, S HAN W Emgre
fohece a1 The U3 & ®9 H gIT gl

7. Which of the following statements is FALSE? [T ol § O Sl 1ad %?

(a) Plant cells have smaller vacuoles than those of animal cells / 9Tcq HIfAPTIT H trag FIfART3MT FHr
JereTr #F o1 RiFasd el §

(b) Plant cells are generally larger than animal cells / 9T HIABIT 3 X T a7 HIfAPIT T
9T g &

(c) Animal cells do not have pIastids/GiF;I,' HIfAFI3T H colfeecs gl aid ¢

(d) Plant cells have cell wall, whereas animal cells do not/ 9T¢q FITAPT H FHIfApr AT ﬁ?ﬁ %’,
Stafer ey IRt 7 w7gr

RRB NTPC 09.03.2021 (Shift-1l) Stage Ist

Differences between plant cells and animal cells— / 91éq_ahITAHIT_ 3R K| HIAFIT & g -

e Insize- Plant cell is larger than animal cell.

e |nshape- Plant cells are square or rectangular in shape whereas animal cells are irregular or round
shape.

e Aplantcell is surrounded by a rigid cell wall and animal cell does not have any cell wall.

e Presence of a large vacuole is seen in plant cells. Whereas, there are very small vacuoles as

e compared to plant cells are seen in animal cells.

e Centrosomes are absent in plant cells but present in animal cells.

e Plant cells have plastids but animal cells do not have plastids.

e Lysosomes are very rare in plant cells but animal cells have lysosomes.

o 3MHR F- T PP S PR § T2 @l ¥
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o 3R H-UeT HIABIC FalhR IT HAATDHR Bl § STdich S PRI HAATAT I
el 3MAR Y g1 &

o UIGY FHITAHT Teh HoR AT AT & Ol gich § 3R Siqg I & g et AR
T8l gl gl

o Y HIRAFAT 7 vh T2 TAUEN F 3URUTT @ S &1 ST, RiFawe sga o
gicl &

o el B FIRFIHT HT Jole F a2 R F @ AT B

o USIEH Uiey HIRISBT H 3aleUd gl § ofshad T SRR 7 Hislg 81d Bl

o UG HIRHHT F cari¥es g § ofdhet S PRAFHT 7 carfees 767 gid g

. maﬂfﬂaﬂaﬁﬁmﬂma@gﬁagﬁ%aﬁmwgaﬁﬁmﬁﬁﬁ@mﬂm%l

8. White phosphorus is stored in
(a) Oxygen/3TTargSTa

(b) Hydrogen /613_551?{

(c) Water /91T

(d) Alcohol /TS

RRB Group-D 28-09-2018 (Shift-11)

White phosphorus is a soft rusty material like wax. It turns yellow when kept in the light. It is a toxic

substance, insoluble in water but soluble in carbon disulfide (CS2). It automatically burns in the air, so it
isimmersed in water.

Tthe, BREBRY FAH ST 77 ST o[ T gl ARG F I@ WX Tg Yol gF Sl g1 Jg
T faderm gerd §, et & 3reeeie oifthel leel STgdcHISs (CS2) H golereliel &1 I8 Fach:
g gaT H ST SIIcl § SHIAU 3§ U=l H gadm Sirerr g

9. Who demonstrated by composition of electromagnetism and light that light is an electromagnetic
wave?

faegd gradca 3R YehRr I T § fhael geffid fohar fh gerer v faegd gresha
aaT g2

(a) Isaac Newton/3TT8oiah sgcel

(b) Carlo Rubia /&Tall &feT

(c) James Maxwell /o1& Hegdol

(d) Sheldon Glashow/Qe8e TTHT
RRB Group-D 05-10-2018 (Shift-I)

10. When an object is on the of a convex lens, the image is amplified, virtual, and erect/STsl E(ﬂé'

I 3 ol & W I g, ofd gaftid, 3memdr 3R el gl &
(a) between F1and O
(b) 2F1
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(c) F1

(d) infinite

RRB Group-D 23-10-2018 (Shift-I)

When an object is between the principal focus (F) and the optical center (O) of a convex lens, the image
is amplified, virtual and erect.

SIS g TE] 39T ol & HET By (F) 3R 3ifCeehel Shg (0) % & gl g, of ofd Jaft,
MY 3R el g #

11. Which of the following option is not correctly matched?

frafaf@a & & i @1 fwew a8 gafaa 78 &2
(a) Malaria : Protozoa / HIRAT: WEISAI3T
(b) Measles : Bacteria/ TERT : SFEIRAT
(c) Tetanus : Bacteria/ ¢ead : SFCIRAT

(d) Typhoid : Bacteria / TTSHISS : SFIRAT
RRB NTPC 28.01.2021 (Shift-11) Stage Ist

RRB NTPC 12.04.2016 (Shift-l) Stage I°t

Disease

Malaria — Protozoa (Plasmodium)
Measles — Virus (Rubella)

Tetanus — Bacteria (Clostridium tetani)
Typhoid- Bacteria (Salmonella typhi)

12. The study of fertilization, development, division and variation is known as: /ﬁ'@ﬂ?{, ﬁw, CEIcG
3R fAeetar &1 3eTTT Fgoldm &

(a) Embryology /S{UT%TTI'I?-T

(b) Physiology /ffaratelisir

(c) Genetics /3ﬂ?:|37:if517=ﬁf

(d) Evolution /faerr&

Embryology is the branch of biology that deals with prenatal development of gametes (sex cells),
fertilization, and development of embryos and fetuses.

Physiology is a biological science that deals with the functions and activities of life or of living matter
(such as organs, tissues, or cells) and of the physical and chemical phenomena involved.

Genetics is the branchof biology concerned with the study of genes, genetic variations and heredity in
organisms.

HoTTaAT Siia AT 1 a8 mar & St st (Jorg HIRABIAT) & SerAqa faehm, e
3R o7 3R opoT & Fawra & wefA g

rforaaist T Sifas faareT § St Siiae ar Shifdd 961 (ST 3197, e IT SHITARIV) & BT
3R afafafear AR s anfder silfas 3R Tafaes geanst & gafea g
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AR Sia faaier r ag Aarr § St sfal & i, 3 fafaerar 3R meqafishdr &
ITTA § HT B

13. Blue, violet or red flavonoid pigment found in plants is due to the presence of: /tﬁ?ff H 9 S
arelr e, d9rel AT STl FeldleAIss quies fahaehr 3ufRAfa & SROT 8T ¢

(a) Carotene/ FETA

(b) Anthocyanin / TETI T

(c) Xanthophiles/ SFATwISeH

(d) Chlorophyll / Feer
RRB NTPC Stage Ist 29.04.2016 (Shift-1l)

Blue, purple/violet or red flavonoid pigment found in plants is due to the presence of anthocyanin.
Anthocyanin is found in berries, onion, pomegranate, grapes, tomato, chocoberry etc

qiell 7 9T ST aTelT ST, ST/ AT AT Foldlsilss guleh TN T 3uiedfa &
HROT g g
TN ST, ST, 3R, 39, THTCY, Tiehiady 3M1fe & 91 S &

14. Non-metals are widely used in .............. /31"2]'I§3ﬁ FT SIYeh 9 F 39197 fHar Srar %’?
(a) Water boiler /9Tt SR

(b) Fertilizer /33

(c) Aeroplanes /%T:I'Ié' Stglal

(d) Construction of machinery /H2NTT AT fAToT

RRB Group-D 27-11-2018 (Shift-111)
Non-metals like nitrogen and phosphorus are used as fertilizer for better plant growth. Chlorine (Cl2)

non-metal is used in the water purification process. /HT??@GIH 3R wrEwRE S ﬂT—iﬂ_ng 2l
39T Gitl @ dge’ Feiy & TU 3ateh & &9 F fhar ST g1 STol Yefteor yishar #
FelIdleT (CI2) IR-UTe] T 3TANET fovam ST &

15. Name the phase of mitosis during which the chromosomes of the dividing cell lie on equatorial

plate?/ ATSSITAA & 3H TROT I AH IAST ST SRIeT fAsTSIT MRAAr & Jorge
HACRER toe W ffua g &7
(a) Anaphase/ ToATHST

(b) Telophase/ Ereithal

(c) Metaphase/ ATl

(d) Prophase/ 9Tthat
RRB ALP & Tec. (14-08-18 Shift-11)
Metaphase is a stage of the cell cycle occurring in both mitosis and meiosis cell division processes.
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During metaphase in mitosis and meiosis, the chromosomes condense and they become visible and
distinguishable during alignment at the center of the dividing cell, to form a metaphase plate at the
center of the cell.

ACThal SIRAAT Tk 1 Teh TWOT § ST ABTHE 3R IERGATIATSTH St Tfshansit J giar &
AT 3R IEGANTIHTSTT H Achel & SR, AU Tl gl & AR d fasiora
FIfFASAT o g H TI@UT & GRIA TIATA 3R e@1-37e19T & I g, FTH P & hg A
Tsh HeThol Tolc e STl gl

16. When light enters the denser medium through rarer medium, it is slow and. ....... /1S ehreT fael

ATETA & ToeT ATEIH H YA HIAT § af 3G Tt ST gl g1 ...

(a) is reflected in a medium of low density. /& Helcd dTel ATEIH H TReliald gidl ol
(b) bends away from normal. /ATHAT I Sk Sl gl

(c) there is no change in it /sﬂﬁ Ehﬁ'é’ Jeolg T8T §.

(d) bends towards normal/ATHATT FT 3R Slehdl gl

RRB Group-D 24-10-2018 (Shift-lIl)

RRB Group-D 24-10-2018 (Shift-I)

When the ray of light enters from rare medium to the denser medium it is become slow, it turns
towards the normal (ie, bents).

S Ghrer dr fooT foRer Aege & g9 ATeIH A gAY I & df 3T It ST g Srar
g, 98 AT T 3R A3 Sl § (31T {3 1l §)|

17. Eca-Silicon is known as- /éa:r—ﬁ‘i%l?ﬁ?r FT Pl AT g-

(a) silicon

(b) gallium

(c) Germanium

(d) Aluminum

RRB Group-D 26-09-2018 (Shift-11)

Eca-silicon is known as germanium (Ge). The blank space was left for the elements which were not
known by Mendeleev in his periodic table, eca-silicon is one of the elements and its properties were
similar in antimony and arsenic so it was placed in element group 14.

soT-Rafopra & SHfETs (Sg) & T & J1=T STar &1 Aeld & 319e 3ad IrRoft & &
dcdl & IR H AGl ST AT 31 fow Red TaeT o5 f&ar =r o1, sar-Afoeid 39 dear
¥ U § 3N 58 0T WA 3N 3w H FAE ¥ AT 3§ ded FHE 147 @1 I
om|

18. What is a single frequency sound called? /Tdhel 3TIT:|ﬁf eqfel ol FAT Fgd g?
(a) Note

(b) The pitch

(c) Tone

(d) Hertz

RRB ALP & Tec. (17-08-18 Shift-I)
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A sound produced due to single frequency is called tone and sound that is produced due to a mixture of
several frequencies is called a note.

Tehel TGN & HRUT 3cUowT dfel I T el liell & 3R HS gl & AT & HRoT
3ceaT glel aTell €afd &1 Alc gl ST gl

19. Discovery of universal gravitational constant 'G' had done by - /Flé'aﬁfﬁﬁﬁ W@'UT s G
1 @ioT fhaa dr o -

(a) Antoine-Laureate Lavoisier [AA-RE FI'IT:ﬂng

(b) Isaac Newton /HIBGFF =gcal

(c) Henry Cavendish /gelRI hdfser

(d) John Dalton/SiTe STecs

RRB ALP & Tec. (09-08-18 Shift-1l)

RRB Group-D 22-10-2018 (Shift-1)

RRB Group-D 30-10-2018 (Shift-11)

The universal gravitational constant G was discovered by Henry Cavendish.

e Tocarehyor [EUieh G T WieT gl Shafser o v oY

20. A ball is thrown vertically upwards at a velocity of 20 m/s. What will be the perimeter of
displacement after 3 seconds? (g = 10 m/s2) /T & T 20 HeY/Ahs & AT F ddad I I
3R HehT ST &1 3THs & aI¢ ATATIA FHT IRAT F47 grame

(a) 25 m

(b) 15 m

(c)20m

(d)10m

RRB Group-D 22-09-2018 (Shift-I)

Ans : (b) Since the ball 1s thrown vertically upwards.

sa=(-g)
From the Newton's second equation of motion due to
gravity-

1,
h=ut-—gt"
28

=20x3—%x10x32
=60-45=15m

21. The electronic configuration of hydrogen is similar to which of the following? /313‘5!3!? 3l
el e Feaad & @ fras o &

(a) Alkaline soil metals /&TRIT fﬁ?:cﬂ' ?-HT:ID'UU

(b) Inert gases /37fsha A

(c) Alkaline metals /&I ?ﬂﬂ'(ru

(d) Halogens /gelToleT
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RRB Group-D 01-10-2018 (Shift-I)
Hydrogen (1H1) has the lowest atomic number and hydrogen (1H1) is the first element of first group in
the modern periodic table.

gISSIoleT (1H1) Sl TATY] HEAT Fa& HA ¢ AR gIsgioft (1H1) 3MYfeh 3ad GRoT # ugel

HHAG oI Ygell dcd gl

22. An electric lamp of 120 W is used 8 hours per day. Calculate the units of energy used by the lamp in
one day.

120 W T T faegd o gfdfeet 8 € U foham Sirar g1 Toh fd & oY g@ry 39T &
IS Foll FT SHBAT T 0T B
(a) 0.96 units
(b) 2.00 units
(c) 1.50 units
(d) 16.00 units
RRB Group-D 18-09-2018 (Shift-I)
Consumed energy = (Wattxhours x dayx no. of equipment)/1000
E = (120x 8 x1)/ 1000
960/1000
0.96units

23. The sound wave travels at a speed of 339 m/s-1.If its wavelength is 1.5 cm, what will be the
frequency of the wave?

eafel TRIT 339 m/s-1 &Y AT @ oIl §1 I ST AT S&F 1.5 QAT &, @ oar T g
T g

(a) 226 Hz
(b) 2260 Hz
(c) 226000 Hz
(d) 22600 Hz
RRB Group-D 26-10-2018 (Shift-111)
Ans.(d) Speed of sound wave = 339 m/s
Sound's wavelength (f) = 1.5 cm = im
100
Speed of sound (V) = frequency (f) x Wavelength(%)
~339x100 33900

1.5 1.5
= 22600 Hz

Frequency

24. When an object sinks, the up thrust of the fluid on the object is :/oId Eﬁé' ER-_ST if!\ﬁ?ﬁ' %’, ar EN-T:_[
W gd & I AR gr &

(a) Greater than the weight of the object /ER-T:_[ & goled & I¥es

(b) Less than the weight of the object/aQ—_gf & Toled § A

(c) Same as the weight of the object [a¥d % dolel o AT
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(d) Zero

RRB Group-D 09-10-2018 (Shift-11)

If the up thrust (buoyant force) is less than the weight of the object, then the object will sink.
The density of the object is greater than the density of the fluid, the object will sink.

i W & AR e dlell SR (3cCellae] §of) a8 & #RX & HA g, dr a&] g9 et
IEJ F Uelcd & & HeAcd § 3UF gled W a&q g9 M|

25. What plant has the scientific name Solanum Tuberosum?/ﬁw‘&l’ 9 &1 IS ST Aol H
ST 2

(a) Potato/3iTe]

(b) Tomato/THTCY

(c) Pumpkin/ehag

(d) Onion/TITaT

The potato is a root vegetable native to the Americas, a starchy tuber of the plant Solanum tuberosum,
and the plant itself is a perennial in the nightshade family, Solanaceae.

3] 3ARHT 1 HT HAGR T S5 aTell Heoll g, ST Hieledd TTeRITH e T Teh FErRgerd
¢ &, 3R Tg diur AScAs IRAR, WA F Th TRAET B
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